Class NO. ! ceiienssnscsicssiesisanssnns

SECOND YEAR - FIRST TERMINAL EVALUATION iOl 9-2020

Part —III
ACCOUNTANCY WITH COMPUTERISED ACCOUNTING

Maximum : 60 Scores

Time : 2 Hours
Cool-off time : 15 Minutes

\

General Instructions to Candidates :
o There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
s Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.
e Read the instructions carefully. |
e Calculations, figures and graphs should be shown in the answer sheet itself.
¢ Malayalam version of the questions is also provided.
e Give equations wherever necessary.

e Electronic devices except non-programmable calculators are not allowed in'the
Examination Hall.
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PART - A
Answer all questions from 1 to 5. Each carries 1 Score. (3x1=5)
| 1. Subscriptions received from members by a club is
(a) Revenue receipt
(b) Revenue payment
(¢) Capital receipt

(d) Capital payment

2. Amount due fo the partners by the firm is
(@) Debited to the capital alc
(b) Credited to the capital a/c
(¢} Debited to the current a/c

(d) None of these

3. The Balance sheet of a Not for Profit Organization does not include
(a) Assets
(b) Liabilities
(¢) Capital
(d) Capital Fund

4. Hana, a partner withdraws some amount regularly at the end of every month. What is

the average period for which interest is charged from Hana ?
(@ 6.5 months |

(b) 6 months

(¢) 5.5 months

(d) 1year
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5. Partnership is the result of an agreement. ‘What kind of agreement is this ?
(a) Oral
(b) Written
(¢) Oral or written

(d) Oral and written

Answer any 4 questions from 6 to 10. Each carries 2 Scores. @x2=8) -
6. Show the following information in the financial statements of aclub :
Tournament fund T 14,000
Tournament receipts T 4,500

Tournaments expenses ¥ 6,500

7 In which account would you record the following items under fixed capital method ?
e Drawings out of capital |
® Interest on drawings
e  Additional capital

e Intereston capital

8. From the following information, complete the table :
Subscription received — X 17 ,000
Number of members — 200

Annual subscription — ¥ 100

Subscription outstanding ?

Subscription to be credited to income and expenditure a/c ?

9.  Sudeep withdraws ¥ 1,000 regularly in the middle of every month for his personal use.
Compute interest @ 5% p.a.

' SFE 50 4



5. aimgiome 80) $0G10M a0RIBET. I af® @EOUILNSS $006m ?
(a) QOENILBRGY
(b} ageyO
() QUIBHIENSRCHEN af)PITIWE®I

(d) QeNLNBEM0 af)e)THRMo

6 mead 10 aeowes caosymndlcld agemelels 4 afgPaRiia’ DOHOSALIEN .
2 gapod aflo.. 4x2=8)
6. 80} GmMilan WMBI0Y al@ildsglod Hflajoam alloiesmud a:oaieas :
sydemenad anene T 14,000
sy@emeaad aloansud T 4,500
s)@emeaaf eaieianad T 6,500

7. audle aeiwm doleiod @aflajomim kmeneg 0and og® @IGDIERIO6T
COGUN SIS 7
®  2peiwMo allddaiefsjocd
®  ®madaigaleilio
*  @uls aeiwmo
o

@)RIm aleflvo

8. mmidlasm allaieenalod allani algld andomil@ossns :
audlrvosuy ex@lajm — T 17,000
@RoUVBAOS af)aPe — 200

ABanldh cudlaroosuy — T 100

QA6 5)SlyDle ' ?

§0MBho AR af)SHTVO|BerElajd @ReGVIEI@S ey | ?

£121GQEMBYAM UGBV

9. aBu® DoleRonarimoe] audlal’ e BOTVANe AWNEHI@  al@ilaoe]

T 1,000 afladcueilaeymm). 5% a1o@alae; aloasi@d aieflivd &emaandan ).

SFE 50 B 5 . - | P.T.O.



10. Calculate the amount of salary to be shown in the income and expenditure a/c for the
year 2018.

31% December, 2018.

Salary paid during 2018 — % 6,400
Salary unpaid during 2017 - % 1,200
Salary unpaid during 2018 — ¥ 800
Salary prepaid during 2018 — Z 400

Answer any 3 questions from 11 to 14. Each carries 3 Scores. (3' x3=9)

11. Write any three differences between Receipts and Payments Account and Income and
Expenditure Account.

2. Match the following :
(A) (B)

Donation for Building | Credited to Income and Expenditure Account

Donations Capitalised Separately shown in the Balance sheet

General Donations Added with Capital Fund

13.  Calculate interest on capital @ 10% p-a. payable to Raju, assuming books are closed on
31 December every year.

01-01-2018  Capital a/c balance T 36,000
31-05-2018  Further capital introduced T 14,000
01-11-2018  Withdrawals out of capital ¥ 5,000

14. When a partnership firm is formed without a deed, how will you solve the issues
regarding the following :

(a)  Sharing of profits and losses

(b) Interest on capital

(c¢) Interest on loan advanced by partners
SFE 50 . 6
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Answer all questions from 15 to 16. Each carries 5 Scores. 2x5=10)

15. Stock of stationery (1-1-18) - 31,200
Stock of stationery (31-12-18) T 1,800
Creditors for stationery (1-1-18) T 1,600
Creditors for stationery (31-12-18) 72,400
Advance for stationery (31-12-18) % 1,000

Amount paid for stationery during 2018 < 8,000
(@) Calculate the amount of stationery purchased during 2018,

(b) Calculate the amount of stationery consumed during 2018.

16. The following information is taken from the books of a firm where Appu and Ammu

are equal partners.

Appu | Ammu

Capital balance (1-1-18) | 40,000 | 35,000

Interest on capitals 8% 8%
Salaries (Monthly) 600 500
Dfawings 4,000 5,000
Share of loss 1,500 1,500

(a) Name the two methods of maintaining partner’s capital account.
(b) Write any two differences between them.

{¢) Prepare current a/c from the above.
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Answer any 1 question from 17 to 18. Carries 8 scores. (1x8=8)

17. From the following Receipts and Payments Account, prepare Income and Expenditure
Account and Balance Sheet for the year ended 31 December, 2018.

Receipts and Payments Account for the year ended 31* December, 2018

Dr ' Cr
Balance b/d 12,000 | Furniture 16,000
Subscriptions 26,000 | Travelling expenses 700
Locker rent 1,200 | Stationery 1,300
Donations " 800 | Telephone expenses 1,200
Life Membership Fees 3,000 | Books - 14,000
Other receipts 2,000 | Newspapers 800

Salaries : 3.200
Balance ¢/d ‘ 7,800
45,000 45,000

(1)  Subscription received includes ¥ 1,500 for 2017. Subscription still outstanding
¥ 3,500 for 2018.

(2) Salaries unpaid — ¥ 1,800.

(3) On 1-1-18 the value of furniture and books stood in the books at ¥ 14,000 and
T 6,000 respectively.

(4) Stock of stationery as on 31-12-18 —~ T 400.

18. The partnership agreement Between Abhi and Pranav provides that :
(1)  Profits will be shared equally.
(11) Abhi will be allowed a salary of ¥ 4,800. \
(ii1) Pranav will be allowed a commission of T 4,000.
(iv) 10% interest will be allowed on partner’s capitals.
(v) 5% interest will be charged on partner’s drawings irrespective of perioﬁ.

The capital account balances of Abhi and Pranav as on 1-1-2018 are ¥ 60,000 and
T 50,000 respectively. Their drawings during 2018 were ¥ 8,000 and ¥ 6,000
respectively. The profits for the year ending 31 December, 2018 amounted to ¥ 40,000.

Prepare Profit and Loss Appropriation Account and Partner’s Capital Accounts.
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PART-B

Answer all questions from 1 to 3. Each carries 1 score.

(a)
(®)
(©)
(d

is a spread sheet software,
Libre office Base
Libre office Calc
Libre office Writer

Libre office Draw

2. “CB’ for ‘Cash Book’ is an example of

(a)
(b)
(©)
(d)

Block code
Sequential code
Mnemonic code

None of these

3. Components of Computerised Accounting System (CAS) does not include

(2)
(b)
(©)
(d)

Data
Procedure

Software

Decisions

Answer any 3 questions from 4 to 7. Each carries 2 scores.

4,  Identify the spread sheet function mentioned in the following :

(@)
®

5. Briefly explain any two secuﬂty features of Computerised Accounting System.

SFE 50
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6.  Match Column-A with Column-B.
|

(A) ®)
Numerical data Label
Text data $AS1 : $C$5

Relative cell reference | Value

Absolute cell reference | A1:C5

7.  Briefly explain codification of accounts.

Answer any 2 questions from 8 to 10. Each carries 3 scores. 2x3=6)

8. Write the procedure for Naming ranges in libreoffice calc.

9. Classify the following spreadsheet functions under suitable headings :

(@) Count
(b) Now
(¢) Sumif

10.  Some data are given in the range Al : C5 in a worksheet.
Write the name of the function and its syntax used for the following calculations :
(1) Number of celis containing numbers only.
(2) Number of cells containing any data.

(3) Number of cells containing no data.

Answer question no. 11, which carries 5 scores. : (Ix5=5%)

11.  Explain the features of Computerised Accounting System.
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